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17. Which of the following could represcat the graph of y = —x* ~17 You may assume
hat cach ik mack represnts o it
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19, 1 the figre blow, i the lngth of AE =16, fnd the engthof EC.
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21. A porentreeards child with 50 et fr ach comecty solved mathematics problem
and fins the child 30 cents for cachincorecly solved problem. 1fhe child nes $22.00
after 100 problems. How manyproblems were sved correcly?

R o as s

L e
2L

.10, b -8, .6 42 el




image7.png
2. 1x20, then i -6 9=
R
b5
ok
4 (@ e3per
Y =3

2416 log,81=x, then x=
a2

06990 andiog3-

5. 093755
b 038881
< 2354,
& 2150
o s

27, 1 logx—3loga-+logb. then
a (@)
b 3ash
< b
o @b





image8.png
2816 27 =3, then 2
i bn o em
2. G b, (1), ]
o

.

.

020290, then cos—

2 LB B
TS 3 Tt

e 3L




image9.png
3. The figure below shows a portion of the graph of which of the following functions?
‘Notethat the 3-sxs i abeled i dians. Esch ick mark o th y-axis i one it
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36. 2sinxcosx=

a sin2e
b cos2y.
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37, What is mot truc of the graph of = f(x) below?
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5 This s not & ne-to-one function
. This function ha o es rocts,

¢ The domain ofthe function is(—,22).
4 Thi i ot an o fncion
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38, Write the cquation of an clipse with foci at (~6,3),(0,3) and a mjor axis of
length 10,
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3. sinf(cscd—sind) =
5 cos’o.
b, tand—sin’0.
< secOsin’ 0.
4 cot—sin’0.
o sin’f.
40, Which expresss a5 a function of 2
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42. Which of the following could represent the graph below?
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45. Evaluate: csofcos™ x).

47, What s the remsinder when ' +105° 1145+ 218 is divided by (x+4)?
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45, The sum ofa mamber and & i § more than wice the mumber. Find the cqustion that
could be sed o fin this number .
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S0.Simplify £

. Itcannot be detemined rom the iven informaton.

52, Prfonm the indisted opeation and writth resat in standard form: (-3.+ 2)(-3-7).
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53, Whatsthe st comimon denominio o
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8. [ 7]<1 i quivlent to which ofthe fllowing?
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10. In the figure below, if the length of AB is 10, find the length of AD.
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12, Wht s the sope of thelne shown? You mey sssume that cac tck mark represents
one it N
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13 1 f(x)=4x-2, then f(x—
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14, The graph of which ofthe following cquatons i  ine paralll t the gaph of
xZsy=8?

T





